## **BIBLIOGRAPHY**

#### **BIBLIOGRAPHY**

#### **BOOKS CONSULTED**

- 1. Ahuja, Ram. 2006. Research Methods. Jaipur (Rajasthan): Rawat Publications.
- 2. Anker, Richard. 1998. Gender and Jobs: Sex Segregation of Occupations in the World. International labour Office. Geneva.
- 3. Baden, Sally, and Zoe. Oxaal, 2011. *Gender and Empowerment: Definitions, Approaches and Implications for Policy*. BRIDGE (development-gender) Institute of Development Studies, University of Sussex, Brighton, UK ISBN: 1858641756.
- 4. Becker, Gary. 1981. A Treatise on the Family. Cambridge, MA: Harvard University Press.
- 5. Berelson, B. R., Lazarsfeld, and William N. McPhee. 1954. *Voting: A study of Opinion Formation in a Presidential Campaign*. Chicago: The University of Chicago Press.
- 6. Bianchi, Suzanne M., Liana C. Sayer, Melissa A. Milkie, and John P. Robinson. 2012. "Housework: Who Did, Does or will Do It, and How Much Does It Matter?" *Social Forces*. 91 (11).
- 7. Bittman, M., and J. Wajcman. 2004. "The Rush Hour: The Quality of Leisure Time and Gender Equity." In N. Folbre and M. Bittman. ed. *Family Time: The Social Organization of Care*. London: Routledge.
- 8. Bokkan, S. 1970. Citizens, Elections, Parties. New York: David McKay.
- 9. Bryson, Valerie. 2007. Gender and the Politics of Time: Feminist Theory and Contemporary Debates. Bristol: Polity Press.
- 10. Butler, Judith. 1990, *Gender Trouble: Feminism and the Subversion of Identity*. London: Routledge.
- 11. Cassel, C., and Hill, D. 1981. "The Decision to Vote." In Luttbeg N. (ed) Public Opinion and Public Policy. Itasca, III: Peacock.
- 12. Chafe, W. H. 1975. American Women. London: Oxford University Press.
- 13. Christy, C. A. 1984. "Economic Development and Sex Differences in Political participation". In *Women and Politics*: 4 (Spring).
- 14. Collins, Hill Patricia. 2000. *Black Feminist Thought: Knowledge, Consciousness and the Politics of Empowerment*. Routledge Classics.
- 15. Conway, M. M. 1985. Political Participation in the United States. New York's CQ Press.
- 16. Conway, M. M. 1986. Political Participation in the United States. New York: CQ Press.
- 17. Deckard, B. S. 1983. *The Women's Movement*. New York: J Harper and Row.
- 18. Delharup, Drude. ed. 2006. *Women, Quotas and Politic'*. New York, London: Routledge Publishers.

- 19. DiPalma, G. 1970. Apathy and Participation: Mass Politics in Western Society. New York: Free Press.
- 20. Duverger, M. 1950. Political Role of Women. UNESCO. Paris.
- 21. Eakin, T. C. 1972. *Students and Politics: A Comparative Study*. Bombay: Popular Prakashan.
- 22. François, Micheloud. 2001. Passport Switzerland. Novato: World Trade Press
- 23. Fisenstein. Z. R. ed. 1978. Capitalist Patriarchy and the Case for Socialist Feminism. New York: Monthly Review Press.
- 24. Ganguly, B. 1979. "Profiles of Women in West Bengal' In Vina Mazumdar ed, *Symbols of Power*. South Asia Books.
- 25. Gasper, D. and I. V. Staveren, 2006. 'Development as Freedom- and As What Else?' In B Agarwal, J Humphries and I Robeyns. ed, *Capabilities Freedom and Equality: Amartya Sen's Work from a Gender Perspective*, New Delhi: Oxford University Press.
- 26. Goel, M. L. 1974. *Political Participation in a Developing Nation India*. New Delhi: Asia Publishing House.
- 27. Gornick, V., and B. K. Moran. ed. 1971. Women in Sexist Society Studies in power and Powerlessness. New York: Basic Books.
- 28. Goswami Sharbani, and Debaleena Chakraborti. 2009. "Managing Personal and Professional Lives: A Case Study of Women Entrepreneurs of Kolkata." In Sukamal Dutta ed. *Women Empowerment in West Bengal*. Manay Prakashan.
- 29. Grown, Caren, and Sen Gita. *Development, Crises and Alternative Visions*. Earthscan Publications, London. ISBN: 1853830003.
- 30. Hochschild, Arlie, Russel, and Anne Machung. 1989. *The Second Shift: Working Parents and the Revolution at Home*. New York: Viking.
- 31. Hole, J., and F. Levine, 1971. Rebirth of Feminism. New York: Quandrangle
- 32. Huber, J. ed. 1973. *Changing Women in a changing Society*. Chicago: University of Chicago Press.
- 33. Irma, Arriagada. Changes and Inequality in Latin American Families', ECLAC.
- 34. Jacob, J. A., and K. Gerson. 2004. "The Time Divide: Work, Family and Gender Inequality." Cambridge, MA: Harvard University Press.
- 35. Janeway, E. 1973. Between Myth, and Morning. *Women Awakening'* New York: William Morrow & Company.
- 36. Justice, B., and R. Pore. ed. 1981. *Towards the Second Decade, the Impact of the Women's Movement in American Institutions*. Connecticut: Green Wood Press.

- 37. Kabeer Naila, 1994. Reversed Realities: Gender Hierarchies in Developmental Thought. Verso, ISBN: 9780860915843.
- 38. Kabeer Naila, and Subramanian, Ramya. 1999. *Institutions, Relations and Outcomes: A Framework and Case Studies for Gender Aware Planning*. New Delhi, India. Zubaan. ISBN: 9788185107981
- 39. Kabeer, Naila. 2000. The Power to Choose: Bangladeshi Women and Labor Market decisions in London and Dhaka. London: Verso.
- 40. Kirkpatrick, J. 1979. Political Women. New York: Basic Books.
- 41. Kishor, Sunita, and Subaiya Lekha. 2000. *Household Decision-Making as Empowerment:* A Methodological View.
- 42. Klausen, Jytte, and Charles S. Maier 2001. *Has Liberalism Failed Women-Representation in Europe and the US*, New York: Palgrave Publications.
- 43. Knoche, C., and F. Wider, 1980. "Feminism in American Politics" In G. H. Pomper ed. *American Political Parties and Flections*. New York: Praeger.
- 44. Koedt, A. F. Levine, and A Rapone. ed. 1973. *Radical Feminism*. New York: Quandrangle.
- 45. Kumari, Ranjana. 2011. *Reign She Will: Women's Strife for Political Space*, New Delhi: Har Anand Publications.
- 46. Lane, R. F. 1961. Political Life. Illinois: The Free Press.
- 47. Lipset, S. M. 1960. *Political Man The Social Bases of Politics*. London: William Heinemann.
- 48. Lori, S. Ashford. 2012. 'Women in Power and Decision-making'. In *Global Women's Issues: Women in the World Today*. Ch-7. United States Department of State Bureau of International Information Programmes
- 49. Mahajan, Gurpreet. 2003. *The Public and Private, Issues of Democratic Citizenship*. New Delhi: Sage Publications.
- 50. Malhotra, Anshu. 2003. Measuring Women Empowerment World Bank Group.
- 51. Mathews, D. R., and J. W. Prothero. 1966. *Negroes and the New Southern Politics*. New York: Hartcourt Brace.
- 52. Mazumder, Vina. ed. 1976. 'Symbols of Power'. New Delhi: Allied Publishers.
- 53. McClosky, H. 1968. "Political Participation." In *International Encyclopaedia of the Social Sciences*. New York: Collier Macmillan.
- 54. McGlen, N., and K. O'Connor. 1983. Women's Rights: The Struggle for Equality in the 19<sup>th</sup> and 20<sup>th</sup> Centuries. New York: Praeger.

- 55. Milbrath, L. W, and M. L. Goel. 1977. *Political Participation How and Why Do People Get Involved in Politics?* Chicago & Rand McNally.
- 56. Milbrath, L. W. 1965. "Political Participation in the States." In H. Jacob and K. N. Vines (eds). *Politics in the American States: A Comparative Analysis*. Boston: Little Brown.
- 57. Milbrath, L. W. 1965. Political Participation. Chicago: J Rand McNally.
- 58. Miller, W. E., Miller, A. H., and E. J. Schneider. 1980. *American National Election Studies Data Sourcebook*, 1962-1978. Cambridge's Harvard University Press.
- 59. Millet, K. 1985. Sexual Politics. London: Virago.
- 60. Mitchell, J. 1971. Women's Estate. New York: Pantheon.
- 61. Morgan, R. ed. 1970. Sisterhood is Powerful: An Anthology of Writings from the Women's Liberation Movement. New York: Vintage.
- 62. Mosedale, Sarah. 2003. *Towards a Framework for Empowerment Women, Culture and Development*. Ch 2 Zed Books, London / New York.
- 63. Moser, O., and N. Caroline. 1993. *Gender, Planning and Development: Theory, Practice and Training*. Routledge Publications. ISBN-10: 0415056217.
- 64. Moser. 1998. Gender Planning and Development: Theory, Practice and Training. Verso Books. ISBN: 9780860915843
- 65. Noelle, N. E. ed. 1981. *The Germans Public Opinion Polls, 1967-1980*. West Port CT: Green Wood Press.
- 66. Organisation de cooperation et de development economiques. 2011.
- 67. Palmer, N. D. 1976. Elections and Political Development-la India. New Delhi: Vikas.
- 68. Pandey, Tripti. 1999 *Where Silence Sings: Sounds and Rhythms of Rajasthan*. New Delhi: Harper Collins Publishers.
- 69. Parida, Subhas C., and Sasmita Nayak. 2009. *Empowerment of Women in India*. Delhi: Northern Book Centre.
- 70. Pateman, Carole.1991. "Feminist Critique of the Public/Private Dichotomy". In S. I Benn and Gaus. G. F. ed. Public and Private in Political Theory, Oxford, Polity press.
- 71. Phillips, Anne. 1998. Feminism and Politics. Oxford. Oxford University Press.
- 72. Powell, G., and G. A. Almond. 1966. *Comparative Politics: A Developmental Approach*. Boston: Little, Brown and Company.
- 73. Pye, L. N. 1972. Aspects of Political Development. New Delhi. Amerind.
- 74. Randall, V. 1982. Women in Politics. London: Macmillan.
- 75. Ray, Raka. 2000. Field of Protest: Women's Movement in India. Kali for Women, New Delhi.
- 76. Rowbothan, S. 1973. Women's Consciousness: Man's World. Baltimore: Penguin.

- 77. Rowlands, Jo. 1997. Questioning Empowerment: Working with Women in Honduras. Oxfam Publications.
- 78. Saffiola H. I. B. 1978. Women in Class Society. New York: Monthly Review Press.
- 79. Sapiro, V. 1983. The Political Integration of Women. Urbana: University of Illinois Press.
- 80. Sen Amartya. 1993. *Capability and Well-being*. Oxford, New York: Oxford University Press.
- 81. Sen, Amartya 1984. *Poverty and Famines: An Essay in Entitlement and Deprivation*. University of Chicago Press.
- 82. Sen, Amartya. "Gender and Cooperative Conflicts". In Tinker I. ed. *Persistent Inequalities* Oxford University Press, Oxford, New York.
- 83. Sen, Amartya. 2006. "Development as Freedom'- and As What Else?" In B. Agarwal, J. Humphries and I. Robeyns. ed. *Capabilities Freedom and Equality: Amartya Sen's Work from a Gender Perspective*, New Delhi: Oxford University Press.
- 84. Silviya, Walby. ed. 2002. 'Gender' and 'Patriarchy': The Blackwell Dictionary of Modern Social Thought. Blackwell Publications.
- 85. Simpson, E. 1977. 'Values in Political Psychology and Political Learning', In S. A. Renshon (ed.). *Handbook of Political Socialization*. New York: The Free Press.
- 86. Sinclair, B., Deckward. 1974. *The Women Movement: Political, Socio-economic, and Psychological Issues*. New York: William Morrow.
- 87. Stucker, J. J. 1977. "Women as Voters: Their Maturation as Political Persons in American Society". In M. Git hens and J. Prestage. ed. *A Portrait of Marginality* New York. McKay.
- 88. Suchinmayee, Rachna. 2008. *Gender, Human Rights and Environment*. New Delhi: Atlantic Publications.
- 89. Verba, S., and G. A. Almond. 1965. *The Civic Culture: Political Attitudes and Democracy in Five Nations*. Boston. Little Brown.
- 90. Woodward, J. L., *et. al.* 1972. "Political Activity of the American Citizens." In H. Eulau, S. J. Eldersvela and M. Janowitz eds. *Political Behavior*. New Delhi. Amerind.

#### **JOURNALS, AND GOVERNMENT REPORTS**

- 1. Abramson. P. R., and J. H. Aldrich. 1982. "The Decline of Electoral Participation in America". American Political Science Review. 76.
- 2. Aviel, J. F. 1981. "Political Participation of Women in Latin America". *Western Political Quarterly*. March (34).

- 3. Banerjee, Nirmala. 1997. "Women in the Emerging Labour Market." *Indian Journal of Labour Economics*. 40(3): 1.
- 4. Bhatia, R. 2002. "Measuring Gender Disparity Using Time Use Statistics." *Economic and Political Weekly*. xxxvii (33).
- 5. Bhatt, Ela. 1989. "Shramshakti Report of the National Committee of Self-employed Women and Women in the Informal Sector". SEWA, Ahmedabad.
- 6. Bhowmik, K. Sarit. 2010. "Hawkers and the Urban Informal Sector: A Study of Street Vending in Seven Cities". *National Alliance for Street Vendors in India*. (NASVI).
- 7. Blee, M. K. 1986. "Mobility and Political Orientation: Analysis of Sex Differences", *Sociological Perspective*. July, 28(3).
- 8. Bose, Buddhadeb. 1981. "Agrarian Programme of the Left Front Government West-Bengal." *Economic and Political Weekly*". XVI (50).
- 9. Bose, Mallika. 2005. "Shifting Boundaries: Women's settings in the slums of Calcutta India". Seminar Paper, The Pennsylvania State University edra36.
- 10. Brines, J. 1994. "Economic Dependency, Gender and the Division of Labor at Home." *American Journal of Sociology*. 100(31).
- 11. Chakraborty, Snigdha, and Chaitali Biswas Sharma. 2012. "An Exploratory Analysis of Women's Empowerment in India: A Structural Equation Modelling Approach". *The Journal of Development Studies*. 48(1).
- 12. Chen, Feinian. 2005. "Employment Transitions and the Household Division of Labour in China." *Social Forces.* 84(2).
- 13. Clark, C., and J. Clark, 1986. "Models of Gender Political Participation (In the U.S. A.)." *Women and Politics*. 6(1) Spring.
- 14. Clark, C., and J. Clark, 1987. "The Gender Gap in Yugoslavia Elite versus Mass levels". *Political Psychology*. 8(3), September.
- 15. Cohen Fram, Michelle. 2006. 'The Condition of Women in Developing Countries'—*The Independent Review* vxi, no 2. Fall 2006. ISSN 1086-1653.
- Dashora, B. Kamini. 2013. "Problems Faced By Working Women in India".
   International Journal of Advanced Research in Management and Social Studies. 2(8).
   August.
- 17. Domestic Work Link. 2003. 12(1).
- 18. Drolet, Julie: 2010. "Feminist Perspectives in Development: Implications for Women and Microcredit." *SAGE Journals: journals.sagepub.com*.

- 19. Ejaz, Ghani, William Kerr, and Stephen D O'Connell. 2013. "Promoting Women's Economic Participation in India". The World Bank: Poverty Reduction and Economic Management Network (PREM). *Economic Premise*, February. No 107.
- 20. Grant. K., and Roos, L. J. 1983. "Measuring Participation Using Public Opinion Surveys: Who Lies and Why". Paper submitted at the Annual Meeting of the Midwest Political Science Association, Chicago.
- 21. Harris, John. 2007. "Antinomies of Empowerment: Observations on Civil society, Politics and Urban Governance in India". *Economic and Political Weekly* 42(26). June 30–July 6.
- 22. Hart, Keith. 1971. "Informal Income Opportunities and Urban Employment in Ghana". *The Journal of Modern African Studies*. 11(1).
- 23. Hazra Gitanjali, Anirban, Mondal. 2012. 'Does Educated Women Play a Significant Role in Household Decision-making: An Empirical Study of Kolkata Slum Areas'. International Journal of Research in Commerce and Management. 3(2), February. ISSN 0976-2183.
- 24. Hirway, I. 1999. "Time Use Studies: Conceptual and Methodological Issues with Reference to the Indian Time Use Survey." Paper presented at the International Seminar on Time Use Studies, Ahmedabad, India.
- 25. Hirway, I. 2000. "Tabulation and Analysis of the Indian Time Use Survey Data for Improving Measurement of Paid and Unpaid Work." Paper presented at the International Seminar on Time Use Studies, Ahmedabad, India.
- 26. IEA Civic Education Study. 2001. International Association for the Evaluation of Educational Achievement. Amsterdam.
- 27. The Inter-Parliamentary Union, and UN Women. Women in Politics: 2012, Imprimerie Courand et Associés, France
- 28. Jain. Devaki. 2005. "What Does It Take to Become a Citizen? Some neglected collective identities in building "nation", at a Seminar on *Democracy, Communalism, Secularism and the Dilemmas of Indian Nationhood*, January. New Delhi
- 29. Jain. Devaki.2007. "To Be or Not to Be: Problems in Locating Women in Public Policy" EPW vol42, issue 8,. https://epw.in/journal/2007/08/governance-and-development-karnataka-special-issues-specials/be-or-not-be.html
- 30. Jain, Pratibha. 2005. 'Balancing Minority Rights and Gender Justice: The Impact of Protecting Multiculturalism on Women's Rights in India', *Berkeley Journal of International Law*, 23(1). Article 6.
- 31. Jonathan, Shapiro Anjaria. 2007. "Street Hawkers and Public Space in Mumbai". *Economic and Political Weekly*. 41(21), 27<sup>th</sup> May.

- 32. Kay, B. J. 1987. "Gender and Political Activity in Canada 1965-1984". *Canadian Journal of Political Science*. 20(4), December.
- 33. Lenon, M., and S. Rosenfeld. 1994. "Relative Fairness and the Division of Housework: The Importance of Options." *American Journal of Sociology*. 100(17).
- 34. Listhug, O., and A. H. Miller, 1985. "The Gender Gap in Norwegian Voting Behaviour". *Scandinavian Political Studies* 8(3).
- 35. Livingston. D. R. 1983. Power at the Polls. Silver Spring, Md: National Association of Social Workers.
- 36. Mayer, L. C., and R. E. Smith, 1985. "Feminism and Religiosity: Female Electoral Behaviour in Western Europe". *West European Politics. Oct* (4).
- 37. Miller, P. C., and P., Dekker, 1987. "The Political participation of Women & Men in the Netherlands, 1973–86". *Acta Politica*. 22(4).
- 38. Miller. W. E. 1980. "Disinterest, Disaffection, and Participation in Presidential Politics". *Political Behavior*. 2(1).
- 39. Molyneux, 1985. "Mobilization without Emancipation? Women's Interests, the State, and Revolution in Nicaragua". *Feminist Studies*. 11(2): 227.
- 40. Myatt, and Murrel. 1990. "The Female / Male Unemployment Rate Differential" *Canadian Journal of Economics*.
- 41. National Commission for Enterprises in the Unorganised Sector. August. 2007. Report on conditions of Work and Promotion of Livelihood in the Unorganised Sector.
- 42. Norris, P. 1986. "Conservative Attitudes in recent British Elections: An Emerging Gender Gap". *Political Studies*. 34(1), March.
- 43. Nuss, S. M. 1985. "Women in Political Lifes: Variations at the Global Level|." *Women and Politics*. 5(2.3) Summer Fall.
- 44. Presley, S. Weaver, J., and Weaver, B. 1986. "Traditional and Non-traditional (OS) Mormon Women: Political Attitudes and Socialization". *Women and Politics*. 5(4), Winter.
- 45. Raghabendra, Chattopadhyay, and Duflo, Esther. 2004. "Women as Policy Makers: Evidence from a Randomized Policy Experiment in India". *Econometrica*, 72(5) September: 1409–1443.
- 46. Rai, Praveen. 2011. "Electoral Participation of Women: Key Determinants and Barriers". *Economic & Political Weekly*, January 15. xlvI(3).
- 47. Rai, Shirin. 1995. "Politics of Access: Narratives of Women MPs in the Indian Parliament". *Sage Journals*.

- 48. Rajivan, A. K. 1999. "Policy Implications for Gender Equity: The India Time Use Survey, 1998–1999." International Seminar on Time Use Surveys, Ahmedabad, India, 7–10 December
- 49. Ramachandran, Vimala, Pal, Madhumita, Jain, Sharda, Sekhar, Sunil, and Jitendra, Sharma. 2006. "Teacher Motivation in India". Working Papers id 306. *Esocial Sciences*.
- 50. Richard M. Ryan, and Edward L. Desi. 2000. "Self-Determination Theory and the Facilitation of Intrinsic motivation, Social Development, and Well- Being". *American Psychologist*. January.
- 51. Ros Der Van, J. V. 1987. "Class, Gender, and Participatory Behavior: Presentation of a New Nlpdel". *Political Psychology*. 8(1), March.
- 52. Sayer, Liana C. 2005. "Gender, Time and Inequality: Trends in Women's and Men's Paid Work, Unpaid Work and Free Time." Social Forces. 84(1): 285–303.
- 53. Schubert, G. 1985. "Sexual Difference in (US) Political Behavior". *Political Science Reviewer*. 15, Fall.
- 54. Sen, Samita. 2000. "Towards a feminist Politics? The Indian Women's Movement in Historical Perspective". In "Engendering Development. Policy Research Report on Gender and Development. Working Paper Series No 9.
- 55. Sevilla-Sanz, A., and J. I. Gimenez. 2010. "Trends in Time Allocation: A Cross-country Analysis." Discussion paper 547, Department of Economics, Oxford University (April).
- 56. Sharma Biswas Chaiti and Snigdha Chakraborty. 2008. "Women Empowerment, Household Condition and Personal Characteristics: Their Inter-Dependence in Developing Countries". Discussion Paper/ ERU2008-01.
- 57. Soule, Suzanne, and Jennifer, Naraine. 2006. "Are Girls Checking Out? Gender and Political Socialization in Transitioning Democracies". Centre for Civic Education presented at Midwestern Political Science Meeting, Chicago. April 19-23.
- 58. Steuernagel, G. A. 1987. "Reflections on Women and Political Participation." *Women and Politics*. 7(4), Winter.
- 59. Sundar, K., and A. P. Kumar (2012). "A Study of Women Employees in Banks in Pondicherry Union Territory, India." *Arth Pravandh: A Journal of Economics and Management.* 1(9).
- 60. Welch, S., and Studlar, D. T. 1986. "British Public Opinion toward Women in Politics: A Comparative Perspective." *Western Political Quarterly*. 39(1), March.
- 61. Welch, S., and Studlar, D. T. 1990. "Multi-member Districts and the Representation of Women, Evidence from Britain and the United States." *Journal of Politics*. 62(2), May.

- 62. Wirls, D. 1986. "Reinterpreting the Gender Gap (in US Elections)". *Public Opinion Quarterly*. 50(3), Pall.
- 63. Wolchik, S. L. 1981. "Ideology and Equality: The Status of Women in Eastern and Western Europe." *Comparative Political Studies*. (January), 13.

#### WEBSITES

- 1. Alsop, Bertelsen, and Holland. 2006. Empowerment in Practice: From Analysis to Implementation. Directions in Development. Washington DC. World Bank. https://openknowledge.worldbank.org/handle/10986/6980)
- 2. Anagol, P. 2013. "Gender, Religion and Anti-feminism in Hindu Right Wing Writings: Notes from a Nineteenth Century Indian Women Patriot Ttext" In 'Éssays in the Service of a Nation'. Women's Studies International Forum. 37 (10. 1016/j. wsif. 2012. 11. 002
- 3. Beall Jo. 1996. "Urban Governance: Why Gender Matters?"- The Global development Research Centre. https://gdrc.org/u-gov/gender/gender-matters.html
- 4. Earl, Babbie, and Johann Mouton. 2001. The Practice of social Research. worldcat. org.
- 5. Election Commission of India. http://eci.gov.in
- Goyal Anjali.2005. "Women Empowerment through Gender Budgeting: A review in the Indian context". https://www.scribd.com/document/429800530/Women-Empowerment-Through-Gender-Budgeting
- 7. Inter-Parliamentary Union.2013. World Classification. September. Accessed on 10 October 2013 from http://www.ipu.org/wmn-e/arc/classif010913.html
- 8. Lal, Shiva Kumar. 2006. "A Study of Issues and Challenges in empowerment of Women through their participation in Panchayati Raj Institution: A Case study of Allahabad District of Uttar Pradesh" www.isical.ac.in/wemp/papers/paper.Shivalalrevised.doc
- 9. Longwe, Sara, and Clarke. Roy, 1999. "Towards Improved Leadership for Women's Empowerment in Africa Measuring Progress and Improving Strategy". Final Draft. African Leadership Forum. Accra https://www.africaleadership.org/PDFs/iswa.pdf1999
- 10. 13. National Policy For Urban Street Vendors. Ministry of Urban Employment and Poverty Alleviation, Government of India . http://muepa.nic.in/policies/index2.html
- 11. Parliament of India. https://www.parliamentofindia.nic.in
- 12. Progress in the World's Women (2000). UNIFEM Biennial Report, New York. Website: https://www.unwomen.org/en/digital-library/publications/2000/1/progress-of-the-world-s-women-2000
- 13. socialscience.librarytexts.org.https://socialsci.libretexts.org/Bookshelves/Sociology/
  Introduction\_to\_Sociology/Book%3A\_Sociology\_(Boundless)/14%3A\_Religion/14.03%

- 3A\_The\_Functionalist\_Perspective\_on\_Religion/14.3A%3A\_Functions\_of\_Religion#:~:t ext=Given%20this%20approach%2C%20Durkheim%20proposed,in%20society%2C%20 and%20it%20offers
- 14. United States Department of Labor Women's Bureau 2006, Statistics. Website at https://www.dol.gov/wb/stats/main.html
- 15. Women's Suffrage. https://www.softschools.com/language\_arts/reading\_comprehension/social\_studies/212/womens\_suffrage/
- 16. West Bengal Human Development Report.2004. https://hdr.undp.org/en/content/west-bengal-human-development-report-2004
- 17. www.vikaspedia.in
  https://vikaspedia.in/social-welfare/unorganised-sector-1/unorganized-sector-informal-sector

## Questionnaire

SRL NO.	QUESTION	REMARKS
PRIMARY	IDENTIFICATION:	
1	Name of the respondent?	
a.	Permanent Address.	
b.	KMC Ward No.	
c.	Age: 25 To 40 – 1, 41 To 60 – 2	
d.	Occupation : Type Of Occupation : Formal-1, Informal-2	
е.	Religion: Hindu -1 , Muslim – 2, Christian – 3, Others - 4	
f.	Caste: GENERAL -1, SC - 2, ST - 3, OTHERS - 4	
g.	Education: Illiterate – 1, Secondary – 2, Higher Secondary – 3, Graduation – 4, Post-Graduation And Above – 5	
h.	Marital Status : Married – 1, Unmarried – 2, Divorced/Separated – 3	
i.	Monthly Income: Rs.0 To Rs.15000 – 1, Rs.15001 To Rs.30000 – 2, Rs.30001 To Rs.50000 – 3, Rs.50001 To Rs.75000 – 4, Rs.75001 To 1lakh – 5, Above 1 Lakh – 6	
	COGNITIVE ORIENTATION (RIGHT-1 AND WRONG-0)	
2	Name 3 political parties and their symbols? (The respondents were asked to identify the party symbols from a list of symbols of political parties).	
3	Which political party is in power in our state (West Bengal)?	
4	For how many years is the party in power? (More than 5 years was taken as the correct answer based on the year of survey (2016-17)	
5	Which political party is in power at the centre?	

6	Which political party was in power in West Bengal just before this party won the election?	
7	Who is the Chief Minister of West Bengal?	
8	Who was the Chief Minister of West Bengal just before the present one?	
9	Who is the present Prime Minister of India?	
10	Which political party does he belong to?	
11	Who was the Prime minister of India just before the present one?	
12	Which province did he belong to? (The place of birth has been taken into consideration)	
13	Who is the present President of India?	
	IVE ORIENTATION CONOMIC SECURITY	
14	Have you or any member of your family ever been adversely affected by any political party?	
15	Have you or any member of your family ever been harassed by members of the municipality or corporation?	
16	Have you or any member of your family ever been harassed by the police?	
17	Have you or any member of your family ever been evicted from your residence? If Yes, by whom?	
18	Have you seek the help of any political party to solve the problem?	
19	Have you seek the help of any NGO or local committee for solving the problem?	
20	Do you positively contribute to the family expenditure every month?	
21	Do you take decisions on your monthly expenditures yourself? If No,	

Γ

	Do you take decisions on your monthly savings and investment yourself	
22	If No,	
	a) Are you advised by the male members of your family?	
	b) Are you advised by the female members of your family?	
	Do you have the right to make major decisions within the family	
	regarding expenditure or education of children etc.?	
23	If Yes,	
	a) Did you have to struggle with the male members of the family to	
	achieve such rights?  Do you have the right to take minor decisions within the family?	
	If Yes,	
24	a) Did you have to struggle with the male or elderly female members	
	of the family to achieve such rights?	
	*	
	TIVE ORIENTATION	
A. PO	LITICAL INTEREST (Yes – 1, No – 2)	
	A. Do you watch the television? $(Yes - 1, No - 2)$	
25	B. Do you watch political news and discussions? (Yes $-1$ , No $-2$ )	
	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
2.5	A. Do you listen to the radio? $(Yes - 1, No - 2)$	
26	B. Do you hear political news and discussions? $(Yes - 1, No - 2)$	
	A De you would also shot with your fainness and neighbours during	
	A. Do you regularly chat with your friends and neighbours during leisure time? $(Yes - 1, No - 2)$	
	B. Do you discuss national and international politics while chatting?	
27	(Yes – 1, No –2)	
	C. Is any political person discussed in your adda (leisure)? (Yes–1, No	
	-2)	
	A. Do you read books and pamphlets of any political party?(Yes-1,	
28	No-2)	
	B. If yes, at what time?	
	Are you or any member of your family associated with any type of	
29	organisations like trade union, local club, school and college	
	committees, youth organisations, puja committee etc.? (Yes – 1, No –	
	Are you or members of your family associated with the following	
	activities? (Yes – 1, No – 2) A. Participation in political meetings.	
30	A. Participation in political meetings.  B. Participation in political campaigns.	
30	C. Subscribing to any political party.	
	D. Collection of subscriptions for any political party.	
	E. Any other political activity. (Describe)	
31	Have you ever placed any demand to an MLA / MP? (Yes – 1, No – 2)	
	Have you or your friends or relatives ever got any help from any	
32	political party regarding their physical survival? (Yes $-1$ , No $-2$ )	
	position party regulating their physical survivar. (105 - 1, 110 - 2)	
	Do you resolve conflicts in your locality or workplace with the help of	
33	any political party? (Yes $-1$ , No $-2$ )	
	J F F J - (	

34	Have you or any of your friends or relatives ever got any help from any political party after any accident/emergency at home or at the workplace? $(Yes-1, No-2)$	
<b>B. P</b>	ARTISAN PREFERENCE (Yes – 1, No – 2)	
35	Do you cast your vote in favour of the same political party supported by your parents / husband or in-laws or elders in the family? (Yes $-1$ , No $-2$ )	
36	Do you cast your vote in favour of the same political party since the last 25 years? $(Yes-1, No-2)$	
37	Have you changed your partisan preference after the end of the Left rule? $(Yes-1,No-2)$	
38	Are you loyal to the same political party that came to solve your problems before 2011? (Yes $-1$ , No $-2$ )	
39	Do you consult members of your family regarding in favour of whom to cast your vote before elections? $(Yes-1, No-2)$	
40	Do you consult any outsider regarding in favour of whom to cast your vote before elections? $(Yes-1, No-2)$	
41	After having discussions with family or outsiders, have you ever changed your voting behaviour? $(Yes-1, No-2)$	

## **APPENDICES**

APPENDIX – I

# **Scores of Different Groups under Informal and Formal Sectors in Political Knowledge**

	Informal Sector					Formal Sector				
Sl. No.	Stre	et Vendor	Dome	stic Worker	Bank Employee Teacher					
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage		
1	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
2	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
3	12	100.00%	11	91.67%	12	100.00%	12	100.00%		
4	12	100.00%	10	83.33%	12	100.00%	12	100.00%		
5	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
6	11	91.67%	11	91.67%	12	100.00%	12	100.00%		
7	12	100.00%	9	75.00%	12	100.00%	12	100.00%		
8	11	91.67%	11	91.67%	12	100.00%	12	100.00%		
9	10	83.33%	12	100.00%	12	100.00%	12	100.00%		
10	12	100.00%	10	83.33%	12	100.00%	12	100.00%		
11	11	91.67%	12	100.00%	12	100.00%	12	100.00%		
12	12	100.00%	10	83.33%	11	91.67%	12	100.00%		
13	11	91.67%	9	75.00%	12	100.00%	12	100.00%		
14	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
15	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
16	12	100.00%	12	100.00%	12	100.00%	12	100.00%		
17	11	91.67%	5	41.67%	12	100.00%	12	100.00%		
18	11	91.67%	12	100.00%	12	100.00%	12	100.00%		
19	11	91.67%	12	100.00%	0	0.00%	12	100.00%		
20	12	100.00%	6	50.00%	12	100.00%	12	100.00%		
21	12	100.00%	6	50.00%	12	100.00%	12	100.00%		
22	11	91.67%	12	100.00%	12	100.00%	12	100.00%		
23	12	100.00%	6	50.00%	12	100.00%	12	100.00%		
24	11	91.67%	9	75.00%	0	0.00%	12	100.00%		
25	9	75.00%	7	58.33%	12	100.00%	12	100.00%		
26	11	91.67%	12	100.00%	12	100.00%	12	100.00%		
27	9	75.00%	12	100.00%	12	100.00%	12	100.00%		
28	11	91.67%	12	100.00%	12	100.00%	12	100.00%		
29	11	91.67%	5	41.67%	12	100.00%	12	100.00%		
30	11	91.67%	8	66.67%	12	100.00%	12	100.00%		
31	11	91.67%	5	41.67%	12	100.00%	12	100.00%		
32	9	75.00%	9	75.00%	12	100.00%	12	100.00%		
33	9	75.00%	9	75.00%	12	100.00%	12	100.00%		
34	9	75.00%	4	33.33%	12	100.00%	12	100.00%		
35	11	91.67%	8	66.67%	12	100.00%	12	100.00%		
36	10	83.33%	10	83.33%	12	100.00%	12	100.00%		
37	10	83.33%	8	66.67%	12	100.00%	12	100.00%		
38	12	100.00%	11	91.67%	0	0.00%	12	100.00%		
39	12	100.00%	10	83.33%	11	91.67%	12	100.00%		

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Dome	stic Worker	Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
40	12	100.00%	7	58.33%	12	100.00%	12	100.00%	
41	12	100.00%	11	91.67%	12	100.00%	12	100.00%	
42	12	100.00%	8	66.67%	12	100.00%	12	100.00%	
43	12	100.00%	7	58.33%	12	100.00%	12	100.00%	
44	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
45	10	83.33%	9	75.00%	12	100.00%	12	100.00%	
46	10	83.33%	9	75.00%	12	100.00%	12	100.00%	
47	12	100.00%	10	83.33%	12	100.00%	12	100.00%	
48	10	83.33%	8	66.67%	12	100.00%	12	100.00%	
49	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
50	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
51	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
52	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
53	11	91.67%	10	83.33%	12	100.00%	12	100.00%	
54	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
55	12	100.00%	9	75.00%	12	100.00%	12	100.00%	
56	12	100.00%	7	58.33%	12	100.00%	12	100.00%	
57	11	91.67%	10	83.33%	12	100.00%	12	100.00%	
58	11	91.67%	5	41.67%	12	100.00%	12	100.00%	
59	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
60	12	100.00%	9	75.00%	12	100.00%	12	100.00%	
61	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
62	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
63	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
64	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
65	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
66	9	75.00%	11	91.67%	12	100.00%	12	100.00%	
67	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
68	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
69	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
70	11	91.67%	6	50.00%	12	100.00%	12	100.00%	
71	11	91.67%	8	66.67%	12	100.00%	12	100.00%	
72	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
73	8	66.67%	9	75.00%	12	100.00%	12	100.00%	
74	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
75	11	91.67%	4	33.33%	12	100.00%	12	100.00%	
76	11	91.67%	6	50.00%	12	100.00%	12	100.00%	
77	11	91.67%	5	41.67%	12	100.00%	12	100.00%	
78	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
79	9	75.00%	8	66.67%	12	100.00%	12	100.00%	
80	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
81	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
82	7	58.33%	9	75.00%	11	91.67%	0	0.00%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
83	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
84	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
85	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
86	11	91.67%	8	66.67%	12	100.00%	12	100.00%	
87	9	75.00%	7	58.33%	12	100.00%	12	100.00%	
88	10	83.33%	6	50.00%	12	100.00%	12	100.00%	
89	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
90	11	91.67%	3	25.00%	12	100.00%	12	100.00%	
91	11	91.67%	5	41.67%	12	100.00%	12	100.00%	
92	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
93	5	41.67%	6	50.00%	12	100.00%	12	100.00%	
94	7	58.33%	5	41.67%	12	100.00%	12	100.00%	
95	10	83.33%	9	75.00%	12	100.00%	12	100.00%	
96	11	91.67%	5	41.67%	12	100.00%	12	100.00%	
97	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
98	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
99	10	83.33%	5	41.67%	12	100.00%	12	100.00%	
100	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
101	7	58.33%	11	91.67%	12	100.00%	12	100.00%	
102	10	83.33%	6	50.00%	12	100.00%	12	100.00%	
103	7	58.33%	4	33.33%	12	100.00%	12	100.00%	
104	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
105	10	83.33%	2	16.67%	12	100.00%	12	100.00%	
106	11	91.67%	3	25.00%	12	100.00%	12	100.00%	
107	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
108	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
109	9	75.00%	8	66.67%	12	100.00%	12	100.00%	
110	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
111	10	83.33%	10	83.33%	12	100.00%	12	100.00%	
112	7	58.33%	2	16.67%	12	100.00%	12	100.00%	
113	7	58.33%	10	83.33%	12	100.00%	12	100.00%	
114	8	66.67%	10	83.33%	12	100.00%	12	100.00%	
115	9	75.00%	11	91.67%	12	100.00%	12	100.00%	
116	7	58.33%	9	75.00%	12	100.00%	12	100.00%	
117	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
118	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
119	11	91.67%	10	83.33%	12	100.00%	0	0.00%	
120	11	91.67%	6	50.00%	12	100.00%	12	100.00%	
121	9	75.00%	4	33.33%	12	100.00%	12	100.00%	
122	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
123	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
124	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
125	11	91.67%	7	58.33%	12	100.00%	12	100.00%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Dome	Domestic Worker		Employee	7	Teacher	
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
126	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
127	8	66.67%	7	58.33%	12	100.00%	12	100.00%	
128	8	66.67%	9	75.00%	0	0.00%	12	100.00%	
129	8	66.67%	7	58.33%	0	0.00%	12	100.00%	
130	8	66.67%	10	83.33%	12	100.00%	12	100.00%	
131	8	66.67%	3	25.00%	12	100.00%	12	100.00%	
132	7	58.33%	7	58.33%	12	100.00%	12	100.00%	
133	5	41.67%	8	66.67%	12	100.00%	12	100.00%	
134	6	50.00%	7	58.33%	12	100.00%	12	100.00%	
135	7	58.33%	4	33.33%	12	100.00%	12	100.00%	
136	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
137	5	41.67%	6	50.00%	12	100.00%	12	100.00%	
138	9	75.00%	7	58.33%	12	100.00%	12	100.00%	
139	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
140	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
141	11	91.67%	10	83.33%	12	100.00%	12	100.00%	
142	11	91.67%	12	100.00%	12	100.00%	12	100.00%	
143	8	66.67%	8	66.67%	12	100.00%	12	100.00%	
144	9	75.00%	11	91.67%	12	100.00%	12	100.00%	
145	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
146	8	66.67%	10	83.33%	12	100.00%	12	100.00%	
147	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
148	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
149	5	41.67%	9	75.00%	12	100.00%	12	100.00%	
150	7	58.33%	9	75.00%	12	100.00%	12	100.00%	
151	8	66.67%	9	75.00%	0	0.00%	12	100.00%	
152	8	66.67%	9	75.00%	12	100.00%	12	100.00%	
153	7	58.33%	12	100.00%	12	100.00%	12	100.00%	
154	10	83.33%	8	66.67%	12	100.00%	12	100.00%	
155	9	75.00%	9	75.00%	12	100.00%	12	100.00%	
156	8	66.67%	7	58.33%	12	100.00%	12	100.00%	
157	6	50.00%	5	41.67%	12	100.00%	12	100.00%	
158	11	91.67%	5	41.67%	12	100.00%	12	100.00%	
159	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
160	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
161	10	83.33%	10	83.33%	12	100.00%	12	100.00%	
162	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
163	9	75.00%	11	91.67%	12	100.00%	12	100.00%	
164	9	75.00%	11	91.67%	12	100.00%	12	100.00%	
165	10	83.33%	10	83.33%	12	100.00%	12	100.00%	
166	8	66.67%	5	41.67%	12	100.00%	12	100.00%	
167	8	66.67%	6	50.00%	12	100.00%	12	100.00%	
168	9	75.00%	5	41.67%	12	100.00%	12	100.00%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Dome	Domestic Worker		Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
169	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
170	10	83.33%	10	83.33%	12	100.00%	12	100.00%	
171	9	75.00%	7	58.33%	12	100.00%	12	100.00%	
172	6	50.00%	8	66.67%	12	100.00%	12	100.00%	
173	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
174	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
175	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
176	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
177	11	91.67%	6	50.00%	12	100.00%	12	100.00%	
178	7	58.33%	5	41.67%	12	100.00%	12	100.00%	
179	6	50.00%	6	50.00%	12	100.00%	12	100.00%	
180	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
181	7	58.33%	5	41.67%	12	100.00%	12	100.00%	
182	6	50.00%	11	91.67%	12	100.00%	12	100.00%	
183	11	91.67%	8	66.67%	12	100.00%	12	100.00%	
184	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
185	10	83.33%	10	83.33%	12	100.00%	12	100.00%	
186	10	83.33%	7	58.33%	12	100.00%	12	100.00%	
187	6	50.00%	11	91.67%	12	100.00%	12	100.00%	
188	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
189	11	91.67%	10	83.33%	12	100.00%	12	100.00%	
190	11	91.67%	9	75.00%	12	100.00%	12	100.00%	
191	7	58.33%	11	91.67%	12	100.00%	12	100.00%	
192	10	83.33%	11	91.67%	12	100.00%	12	100.00%	
193	11	91.67%	11	91.67%	12	100.00%	12	100.00%	
194	8	66.67%	8	66.67%	12	100.00%	12	100.00%	
195	8	66.67%	8	66.67%	12	100.00%	12	100.00%	
196	11	91.67%	10	83.33%	12	100.00%	12	100.00%	
197	6	50.00%	10	83.33%	12	100.00%	12	100.00%	
198	12	100.00%	12	100.00%	12	100.00%	12	100.00%	
199	12	100.00%	11	91.67%	12	100.00%	12	100.00%	
200	12	100.00%	10	83.33%	12	100.00%	12	100.00%	
201	9	75.00%	10	83.33%	12	100.00%	12	100.00%	
202	11	91.67%	12	100.00%	12	100.00%	12	100.00%	
203	11	91.67%	12	100.00%	12	100.00%	12	100.00%	
204	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
205	11	91.67%	7	58.33%	12	100.00%	12	100.00%	
206	12	100.00%	12	100.00%	12	100.00%	12	100.00%	
207	12	100.00%	8	66.67%	12	100.00%	12	100.00%	
208	12	100.00%	8	66.67%	12	100.00%	12	100.00%	
209	5	41.67%	11	91.67%	12	100.00%	12	100.00%	
210	12	100.00%	4	33.33%	12	100.00%	12	100.00%	
211	11	91.67%	6	50.00%	12	100.00%	12	100.00%	

		Informa	al Sector			Forma	l Sector	
Sl. No.	Stre	eet Vendor	Dome	Domestic Worker		Employee	Teacher	
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage
212	11	91.67%	8	66.67%	12	100.00%	12	100.00%
213	10	83.33%	4	33.33%	12	100.00%	12	100.00%
214	10	83.33%	5	41.67%	12	100.00%	12	100.00%
215	12	100.00%	12	100.00%	12	100.00%	12	100.00%
216	11	91.67%	5	41.67%	12	100.00%	12	100.00%
217	11	91.67%	4	33.33%	12	100.00%	12	100.00%
218	12	100.00%	6	50.00%	12	100.00%	12	100.00%
219	12	100.00%	8	66.67%	12	100.00%	12	100.00%
220	12	100.00%	9	75.00%	12	100.00%	12	100.00%
221	11	91.67%	10	83.33%	12	100.00%	12	100.00%
222	12	100.00%	7	58.33%	12	100.00%	12	100.00%
223	8	66.67%	11	91.67%	12	100.00%	12	100.00%
224	10	83.33%	9	75.00%	12	100.00%	12	100.00%
225	10	83.33%	9	75.00%	12	100.00%	12	100.00%
226	8	66.67%	11	91.67%	12	100.00%	12	100.00%
227	10	83.33%	11	91.67%	12	100.00%	12	100.00%
228	12	100.00%	11	91.67%	12	100.00%	12	100.00%
229	10	83.33%	11	91.67%	12	100.00%	12	100.00%
230	9	75.00%	7	58.33%	12	100.00%	12	100.00%
231	12	100.00%	9	75.00%	12	100.00%	12	100.00%
232	12	100.00%	11	91.67%	12	100.00%	12	100.00%
233	10	83.33%	7	58.33%	12	100.00%	12	100.00%
234	10	83.33%	2	16.67%	12	100.00%	12	100.00%
235	12	100.00%	11	91.67%	12	100.00%	12	100.00%
236	10	83.33%	11	91.67%	12	100.00%	12	100.00%
237	12	100.00%	10	83.33%	12	100.00%	12	100.00%
238	12	100.00%	8	66.67%	12	100.00%	12	100.00%
239	11	91.67%	10	83.33%	12	100.00%	12	100.00%
240	12	100.00%	11	91.67%	12	100.00%	12	100.00%
241	11	91.67%	7	58.33%	12	100.00%	12	100.00%
242	12	100.00%	11	91.67%	12	100.00%	12	100.00%
243	8	66.67%	12	100.00%	12	100.00%	12	100.00%
244	11	91.67%	10	83.33%	12	100.00%	12	100.00%
245	7	58.33%	9	75.00%	12	100.00%	12	100.00%
246	7	58.33%	10	83.33%	12	100.00%	12	100.00%
247	6	50.00%	6	50.00%	12	100.00%	12	100.00%
248	10	83.33%	5	41.67%	12	100.00%	12	100.00%
249	11	91.67%	12	100.00%	12	100.00%	12	100.00%
250	7	58.33%	5	41.67%	12	100.00%	12	100.00%
251	8	66.67%	6	50.00%	12	100.00%	12	100.00%
252	11	91.67%	5	41.67%	12	100.00%	12	100.00%
253	11	91.67%	6	50.00%	12	100.00%	12	100.00%
254	11	91.67%	10	83.33%	12	100.00%	12	100.00%

		Informa		Formal Sector				
Sl. No.	Stre	et Vendor	Dome	Domestic Worker		Bank Employee		<b>Teacher</b>
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage
255	8	66.67%	9	75.00%			12	100.00%
256	10	83.33%	10	83.33%			12	100.00%
257	11	91.67%	10	83.33%			12	100.00%
258	11	91.67%	6	50.00%			12	100.00%
259	9	75.00%	5	41.67%			12	100.00%
260	12	100.00%	3	25.00%			12	100.00%
261	9	75.00%					12	100.00%
262	7	58.33%					12	100.00%
263	7	58.33%					12	100.00%
264	10	83.33%					12	100.00%
265	12	100.00%					12	100.00%
266							12	100.00%
267							12	100.00%
268							12	100.00%
269							12	100.00%
270							12	100.00%
271							12	100.00%
272							12	100.00%

### APPENDIX – II

### **Scores of Different Groups under Informal**

### and Formal Sectors in Political Interest

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Dome	Domestic Worker		Bank Employee Teacher			
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
1	2	22.22%	4	44.44%	8	88.89%	2	22.22%	
2	5	55.56%	4	44.44%	9	100.00%	2	22.22%	
3	2	22.22%	4	44.44%	6	66.67%	1	11.11%	
4	3	33.33%	6	66.67%	7	77.78%	5	55.56%	
5	3	33.33%	5	55.56%	9	100.00%	6	66.67%	
6	4	44.44%	5	55.56%	9	100.00%	7	77.78%	
7	4	44.44%	6	66.67%	8	88.89%	6	66.67%	
8	5	55.56%	5	55.56%	5	55.56%	6	66.67%	
9	6	66.67%	5	55.56%	4	44.44%	4	44.44%	
10	6	66.67%	6	66.67%	6	66.67%	6	66.67%	
11	8	88.89%	5	55.56%	6	66.67%	6	66.67%	
12	7	77.78%	5	55.56%	7	77.78%	7	77.78%	
13	6	66.67%	3	33.33%	3	33.33%	8	88.89%	
14	2	22.22%	5	55.56%	3	33.33%	6	66.67%	
15	6	66.67%	5	55.56%	4	44.44%	5	55.56%	
16	3	33.33%	5	55.56%	5	55.56%	5	55.56%	
17	4	44.44%	1	11.11%	1	11.11%	6	66.67%	
18	0	0.00%	3	33.33%	2	22.22%	3	33.33%	
19	7	77.78%	5	55.56%	1	11.11%	5	55.56%	
20	4	44.44%	4	44.44%	2	22.22%	3	33.33%	
21	2	22.22%	4	44.44%	1	11.11%	4	44.44%	
22	2	22.22%	3	33.33%	1	11.11%	5	55.56%	
23	1	11.11%	2	22.22%	1	11.11%	2	22.22%	
24	2	22.22%	7	77.78%	2	22.22%	2	22.22%	
25	3	33.33%	5	55.56%	3	33.33%	3	33.33%	
26	6	66.67%	4	44.44%	6	66.67%	3	33.33%	
27	5	55.56%	4	44.44%	5	55.56%	4	44.44%	
28	7	77.78%	6	66.67%	5	55.56%	5	55.56%	
29	6	66.67%	3	33.33%	5	55.56%	3	33.33%	
30	7	77.78%	5	55.56%	2	22.22%	3	33.33%	
31	5	55.56%	4	44.44%	3	33.33%	2	22.22%	
32	4	44.44%	5	55.56%	6	66.67%	2	22.22%	
33	6	66.67%	5	55.56%	2	22.22%	3	33.33%	
34	3	33.33%	3	33.33%	4	44.44%	7	77.78%	
35	4	44.44%	4	44.44%	5	55.56%	3	33.33%	
36	4	44.44%	8	88.89%	4	44.44%	4	44.44%	
37	4	44.44%	5	55.56%	4	44.44%	7	77.78%	
38	5	55.56%	6	66.67%	1	11.11%	6	66.67%	
39	5	55.56%	3	33.33%	7	77.78%	9	100.00%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank Employee		Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
40	5	55.56%	5	55.56%	6	66.67%	7	77.78%	
41	7	77.78%	3	33.33%	8	88.89%	8	88.89%	
42	6	66.67%	7	77.78%	8	88.89%	8	88.89%	
43	6	66.67%	2	22.22%	9	100.00%	6	66.67%	
44	7	77.78%	4	44.44%	8	88.89%	4	44.44%	
45	8	88.89%	6	66.67%	7	77.78%	4	44.44%	
46	7	77.78%	5	55.56%	6	66.67%	3	33.33%	
47	9	100.00%	2	22.22%	3	33.33%	3	33.33%	
48	6	66.67%	4	44.44%	3	33.33%	6	66.67%	
49	7	77.78%	6	66.67%	2	22.22%	7	77.78%	
50	7	77.78%	4	44.44%	3	33.33%	4	44.44%	
51	4	44.44%	4	44.44%	4	44.44%	2	22.22%	
52	3	33.33%	3	33.33%	6	66.67%	2	22.22%	
53	5	55.56%	6	66.67%	4	44.44%	5	55.56%	
54	4	44.44%	2	22.22%	4	44.44%	4	44.44%	
55	4	44.44%	3	33.33%	3	33.33%	4	44.44%	
56	1	11.11%	4	44.44%	3	33.33%	1	11.11%	
57	6	66.67%	7	77.78%	3	33.33%	2	22.22%	
58	2	22.22%	6	66.67%	3	33.33%	2	22.22%	
59	1	11.11%	6	66.67%	4	44.44%	1	11.11%	
60	4	44.44%	3	33.33%	4	44.44%	1	11.11%	
61	4	44.44%	4	44.44%	4	44.44%	4	44.44%	
62	3	33.33%	5	55.56%	8	88.89%	3	33.33%	
63	4	44.44%	4	44.44%	7	77.78%	4	44.44%	
64	3	33.33%	7	77.78%	6	66.67%	5	55.56%	
65	4	44.44%	6	66.67%	8	88.89%	5	55.56%	
66	1	11.11%	3	33.33%	4	44.44%	6	66.67%	
67	2	22.22%	7	77.78%	4	44.44%	4	44.44%	
68	5	55.56%	2	22.22%	2	22.22%	7	77.78%	
69	2	22.22%	4	44.44%	4	44.44%	4	44.44%	
70	5	55.56%	5	55.56%	4	44.44%	4	44.44%	
71	4	44.44%	6	66.67%	6	66.67%	2	22.22%	
72	2	22.22%	4	44.44%	2	22.22%	2	22.22%	
73	3	33.33%	4	44.44%	5	55.56%	6	66.67%	
74	3	33.33%	3	33.33%	5	55.56%	4	44.44%	
75	4	44.44%	6	66.67%	4	44.44%	3	33.33%	
76	6	66.67%	4	44.44%	7	77.78%	5	55.56%	
77	3	33.33%	6	66.67%	4	44.44%	3	33.33%	
78	3	33.33%	4	44.44%	4	44.44%	2	22.22%	
79	4	44.44%	5	55.56%	4	44.44%	1	11.11%	
80	3	33.33%	3	33.33%	4	44.44%	4	44.44%	
81	8	88.89%	8	88.89%	2	22.22%	3	33.33%	
82	3	33.33%	7	77.78%	2	22.22%	1	11.11%	

		Informa	al Sector			Forma	l Sector		
Sl. No.	Stre	et Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
83	5	55.56%	6	66.67%	3	33.33%	1	11.11%	
84	4	44.44%	6	66.67%	7	77.78%	2	22.22%	
85	6	66.67%	3	33.33%	6	66.67%	1	11.11%	
86	7	77.78%	4	44.44%	6	66.67%	1	11.11%	
87	3	33.33%	5	55.56%	6	66.67%	1	11.11%	
88	5	55.56%	6	66.67%	3	33.33%	2	22.22%	
89	3	33.33%	3	33.33%	2	22.22%	4	44.44%	
90	6	66.67%	4	44.44%	8	88.89%	4	44.44%	
91	5	55.56%	3	33.33%	3	33.33%	3	33.33%	
92	3	33.33%	6	66.67%	4	44.44%	4	44.44%	
93	3	33.33%	6	66.67%	3	33.33%	6	66.67%	
94	4	44.44%	2	22.22%	4	44.44%	5	55.56%	
95	3	33.33%	5	55.56%	2	22.22%	8	88.89%	
96	5	55.56%	4	44.44%	8	88.89%	6	66.67%	
97	4	44.44%	4	44.44%	3	33.33%	7	77.78%	
98	3	33.33%	3	33.33%	3	33.33%	6	66.67%	
99	2	22.22%	4	44.44%	1	11.11%	7	77.78%	
100	1	11.11%	8	88.89%	4	44.44%	6	66.67%	
101	4	44.44%	6	66.67%	6	66.67%	6	66.67%	
102	1	11.11%	3	33.33%	3	33.33%	6	66.67%	
103	7	77.78%	4	44.44%	8	88.89%	4	44.44%	
104	3	33.33%	3	33.33%	6	66.67%	4	44.44%	
105	3	33.33%	5	55.56%	4	44.44%	4	44.44%	
106	4	44.44%	6	66.67%	6	66.67%	3	33.33%	
107	2	22.22%	4	44.44%	4	44.44%	4	44.44%	
108	6	66.67%	2	22.22%	3	33.33%	4	44.44%	
109	0	0.00%	3	33.33%	3	33.33%	3	33.33%	
110	4	44.44%	6	66.67%	3	33.33%	3	33.33%	
111	1	11.11%	8	88.89%	4	44.44%	3	33.33%	
112	4	44.44%	3	33.33%	5	55.56%	4	44.44%	
113	3	33.33%	5	55.56%	2	22.22%	4	44.44%	
114	7	77.78%	2	22.22%	4	44.44%	3	33.33%	
115	5	55.56%	8	88.89%	5	55.56%	4	44.44%	
116	3	33.33%	3	33.33%	1	11.11%	6	66.67%	
117	0	0.00%	2	22.22%	2	22.22%	7	77.78%	
118	5	55.56%	4	44.44%	5	55.56%	5	55.56%	
119	7	77.78%	6	66.67%	5	55.56%	3	33.33%	
120	6	66.67%	4	44.44%	7	77.78%	2	22.22%	
121	3	33.33%	3	33.33%	3	33.33%	4	44.44%	
122	8	88.89%	3	33.33%	8	88.89%	4	44.44%	
123	4	44.44%	2	22.22%	6	66.67%	2	22.22%	
124	4	44.44%	1	11.11%	7	77.78%	3	33.33%	
125	1	11.11%	1	11.11%	6	66.67%	3	33.33%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
126	5	55.56%	2	22.22%	5	55.56%	0	0.00%	
127	7	77.78%	3	33.33%	5	55.56%	0	0.00%	
128	6	66.67%	5	55.56%	4	44.44%	1	11.11%	
129	4	44.44%	4	44.44%	3	33.33%	3	33.33%	
130	5	55.56%	2	22.22%	5	55.56%	5	55.56%	
131	1	11.11%	5	55.56%	3	33.33%	6	66.67%	
132	1	11.11%	1	11.11%	3	33.33%	5	55.56%	
133	0	0.00%	4	44.44%	6	66.67%	9	100.00%	
134	4	44.44%	2	22.22%	7	77.78%	2	22.22%	
135	2	22.22%	5	55.56%	6	66.67%	2	22.22%	
136	2	22.22%	4	44.44%	4	44.44%	2	22.22%	
137	5	55.56%	4	44.44%	5	55.56%	4	44.44%	
138	3	33.33%	3	33.33%	6	66.67%	6	66.67%	
139	5	55.56%	1	11.11%	6	66.67%	4	44.44%	
140	3	33.33%	3	33.33%	6	66.67%	7	77.78%	
141	3	33.33%	2	22.22%	8	88.89%	4	44.44%	
142	4	44.44%	0	0.00%	5	55.56%	5	55.56%	
143	1	11.11%	2	22.22%	2	22.22%	2	22.22%	
144	3	33.33%	1	11.11%	2	22.22%	2	22.22%	
145	4	44.44%	2	22.22%	2	22.22%	6	66.67%	
146	5	55.56%	2	22.22%	3	33.33%	4	44.44%	
147	2	22.22%	1	11.11%	1	11.11%	7	77.78%	
148	4	44.44%	5	55.56%	2	22.22%	5	55.56%	
149	4	44.44%	1	11.11%	2	22.22%	5	55.56%	
150	4	44.44%	2	22.22%	4	44.44%	4	44.44%	
151	2	22.22%	3	33.33%	2	22.22%	5	55.56%	
152	5	55.56%	3	33.33%	5	55.56%	5	55.56%	
153	5	55.56%	4	44.44%	6	66.67%	4	44.44%	
154	6	66.67%	3	33.33%	4	44.44%	5	55.56%	
155	6	66.67%	3	33.33%	4	44.44%	4	44.44%	
156	2	22.22%	2	22.22%	4	44.44%	4	44.44%	
157	3	33.33%	3	33.33%	4	44.44%	6	66.67%	
158	0	0.00%	2	22.22%	5	55.56%	5	55.56%	
159	3	33.33%	2	22.22%	6	66.67%	3	33.33%	
160	4	44.44%	5	55.56%	5	55.56%	4	44.44%	
161	5	55.56%	2	22.22%	9	100.00%	4	44.44%	
162	2	22.22%	1	11.11%	7	77.78%	2	22.22%	
163	2	22.22%	2	22.22%	8	88.89%	2	22.22%	
164	5	55.56%	3	33.33%	8	88.89%	2	22.22%	
165	3	33.33%	2	22.22%	5	55.56%	3	33.33%	
166	5	55.56%	2	22.22%	6	66.67%	2	22.22%	
167	7	77.78%	1	11.11%	6	66.67%	2	22.22%	
168	3	33.33%	2	22.22%	4	44.44%	3	33.33%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Dome	Domestic Worker		Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
169	6	66.67%	2	22.22%	5	55.56%	5	55.56%	
170	4	44.44%	2	22.22%	3	33.33%	5	55.56%	
171	4	44.44%	2	22.22%	3	33.33%	2	22.22%	
172	3	33.33%	1	11.11%	3	33.33%	5	55.56%	
173	3	33.33%	0	0.00%	3	33.33%	3	33.33%	
174	2	22.22%	0	0.00%	4	44.44%	5	55.56%	
175	5	55.56%	1	11.11%	5	55.56%	9	100.00%	
176	5	55.56%	1	11.11%	4	44.44%	3	33.33%	
177	6	66.67%	0	0.00%	5	55.56%	2	22.22%	
178	3	33.33%	1	11.11%	5	55.56%	5	55.56%	
179	3	33.33%	4	44.44%	3	33.33%	5	55.56%	
180	4	44.44%	5	55.56%	4	44.44%	3	33.33%	
181	5	55.56%	5	55.56%	2	22.22%	5	55.56%	
182	1	11.11%	2	22.22%	4	44.44%	5	55.56%	
183	3	33.33%	5	55.56%	3	33.33%	4	44.44%	
184	3	33.33%	3	33.33%	3	33.33%	8	88.89%	
185	1	11.11%	3	33.33%	3	33.33%	3	33.33%	
186	4	44.44%	4	44.44%	3	33.33%	5	55.56%	
187	5	55.56%	3	33.33%	2	22.22%	3	33.33%	
188	2	22.22%	2	22.22%	2	22.22%	3	33.33%	
189	3	33.33%	4	44.44%	7	77.78%	6	66.67%	
190	5	55.56%	6	66.67%	4	44.44%	6	66.67%	
191	1	11.11%	3	33.33%	4	44.44%	3	33.33%	
192	3	33.33%	4	44.44%	6	66.67%	5	55.56%	
193	4	44.44%	6	66.67%	5	55.56%	7	77.78%	
194	3	33.33%	5	55.56%	5	55.56%	4	44.44%	
195	3	33.33%	5	55.56%	5	55.56%	3	33.33%	
196	3	33.33%	2	22.22%	3	33.33%	2	22.22%	
197	4	44.44%	4	44.44%	6	66.67%	3	33.33%	
198	5	55.56%	3	33.33%	3	33.33%	4	44.44%	
199	5	55.56%	6	66.67%	4	44.44%	5	55.56%	
200	3	33.33%	3	33.33%	6	66.67%	6	66.67%	
201	3	33.33%	3	33.33%	6	66.67%	4	44.44%	
202	2	22.22%	4	44.44%	7	77.78%	4	44.44%	
203	7	77.78%	4	44.44%	7	77.78%	5	55.56%	
204	1	11.11%	2	22.22%	6	66.67%	4	44.44%	
205	4	44.44%	4	44.44%	4	44.44%	3	33.33%	
206	6	66.67%	2	22.22%	5	55.56%	3	33.33%	
207	7	77.78%	5	55.56%	2	22.22%	7	77.78%	
208	6	66.67%	0	0.00%	6	66.67%	3	33.33%	
209	3	33.33%	2	22.22%	6	66.67%	3	33.33%	
210	4	44.44%	3	33.33%	5	55.56%	3	33.33%	
211	3	33.33%	2	22.22%	5	55.56%	4	44.44%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank Employee		Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
212	3	33.33%	6	66.67%	4	44.44%	5	55.56%	
213	5	55.56%	2	22.22%	4	44.44%	5	55.56%	
214	5	55.56%	3	33.33%	4	44.44%	6	66.67%	
215	5	55.56%	5	55.56%	4	44.44%	3	33.33%	
216	6	66.67%	1	11.11%	3	33.33%	6	66.67%	
217	4	44.44%	6	66.67%	5	55.56%	2	22.22%	
218	7	77.78%	3	33.33%	6	66.67%	2	22.22%	
219	4	44.44%	5	55.56%	5	55.56%	2	22.22%	
220	3	33.33%	7	77.78%	5	55.56%	1	11.11%	
221	2	22.22%	5	55.56%	4	44.44%	4	44.44%	
222	3	33.33%	3	33.33%	5	55.56%	3	33.33%	
223	3	33.33%	4	44.44%	4	44.44%	5	55.56%	
224	2	22.22%	4	44.44%	4	44.44%	5	55.56%	
225	6	66.67%	4	44.44%	8	88.89%	4	44.44%	
226	6	66.67%	1	11.11%	5	55.56%	5	55.56%	
227	6	66.67%	4	44.44%	4	44.44%	5	55.56%	
228	4	44.44%	6	66.67%	5	55.56%	5	55.56%	
229	7	77.78%	2	22.22%	5	55.56%	4	44.44%	
230	0	0.00%	1	11.11%	4	44.44%	3	33.33%	
231	6	66.67%	4	44.44%	5	55.56%	2	22.22%	
232	4	44.44%	4	44.44%	5	55.56%	4	44.44%	
233	4	44.44%	2	22.22%	5	55.56%	4	44.44%	
234	3	33.33%	4	44.44%	6	66.67%	3	33.33%	
235	4	44.44%	6	66.67%	6	66.67%	4	44.44%	
236	7	77.78%	5	55.56%	6	66.67%	4	44.44%	
237	6	66.67%	0	0.00%	6	66.67%	6	66.67%	
238	4	44.44%	3	33.33%	6	66.67%	4	44.44%	
239	4	44.44%	6	66.67%	7	77.78%	4	44.44%	
240	4	44.44%	4	44.44%	7	77.78%	4	44.44%	
241	3	33.33%	2	22.22%	6	66.67%	5	55.56%	
242	6	66.67%	2	22.22%	7	77.78%	7	77.78%	
243	4	44.44%	3	33.33%	4	44.44%	6	66.67%	
244	6	66.67%	8	88.89%	5	55.56%	3	33.33%	
245	4	44.44%	6	66.67%	5	55.56%	3	33.33%	
246	5	55.56%	9	100.00%	3	33.33%	2	22.22%	
247	1	11.11%	3	33.33%	3	33.33%	3	33.33%	
248	4	44.44%	0	0.00%	2	22.22%	3	33.33%	
249	4	44.44%	2	22.22%	2	22.22%	3	33.33%	
250	5	55.56%	2	22.22%	3	33.33%	3	33.33%	
251	2	22.22%	3	33.33%	2	22.22%	3	33.33%	
252	2	22.22%	3	33.33%	1	11.11%	3	33.33%	
253	2	22.22%	2	22.22%	2	22.22%	2	22.22%	
254	5	55.56%	1	11.11%	2	22.22%	2	22.22%	

		Informa	al Sector		Formal Sector				
Sl. No.	Street Vendor		Domestic Worker		Bank Employee		Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
255	5	55.56%	4	44.44%			1	11.11%	
256	3	33.33%	1	11.11%			1	11.11%	
257	6	66.67%	1	11.11%			1	11.11%	
258	5	55.56%	2	22.22%			2	22.22%	
259	3	33.33%	0	0.00%			7	77.78%	
260	4	44.44%	2	22.22%			6	66.67%	
261	0	0.00%					6	66.67%	
262	7	77.78%					3	33.33%	
263	5	55.56%					3	33.33%	
264	7	77.78%					2	22.22%	
265	4	44.44%					5	55.56%	
266							4	44.44%	
267							6	66.67%	
268							4	44.44%	
269							4	44.44%	
270							1	11.11%	
271							3	33.33%	
272							2	22.22%	

### APPENDIX – III

# **Scores of Different Groups under Informal and Formal Sectors in Partisan Preference**

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	et Vendor	Dome	stic Worker	Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
1	5	71.43%	1	14.29%	3	42.86%	0	0.00%	
2	4	57.14%	3	42.86%	3	42.86%	0	0.00%	
3	4	57.14%	6	85.71%	3	42.86%	1	14.29%	
4	4	57.14%	3	42.86%	3	42.86%	1	14.29%	
5	4	57.14%	5	71.43%	2	28.57%	4	57.14%	
6	1	14.29%	6	85.71%	6	85.71%	6	85.71%	
7	5	71.43%	5	71.43%	5	71.43%	4	57.14%	
8	2	28.57%	4	57.14%	2	28.57%	4	57.14%	
9	3	42.86%	7	100.00%	3	42.86%	6	85.71%	
10	3	42.86%	4	57.14%	1	14.29%	5	71.43%	
11	3	42.86%	1	14.29%	3	42.86%	5	71.43%	
12	3	42.86%	1	14.29%	6	85.71%	4	57.14%	
13	4	57.14%	2	28.57%	3	42.86%	6	85.71%	
14	2	28.57%	2	28.57%	6	85.71%	1	14.29%	
15	3	42.86%	6	85.71%	3	42.86%	4	57.14%	
16	1	14.29%	3	42.86%	6	85.71%	3	42.86%	
17	3	42.86%	3	42.86%	1	14.29%	4	57.14%	
18	0	0.00%	6	85.71%	4	57.14%	2	28.57%	
19	4	57.14%	2	28.57%	1	14.29%	1	14.29%	
20	3	42.86%	5	71.43%	5	71.43%	6	85.71%	
21	1	14.29%	5	71.43%	5	71.43%	4	57.14%	
22	3	42.86%	3	42.86%	2	28.57%	5	71.43%	
23	3	42.86%	3	42.86%	0	0.00%	4	57.14%	
24	0	0.00%	6	85.71%	1	14.29%	3	42.86%	
25	3	42.86%	3	42.86%	1	14.29%	3	42.86%	
26	6	85.71%	2	28.57%	6	85.71%	4	57.14%	
27	2	28.57%	3	42.86%	5	71.43%	3	42.86%	
28	5	71.43%	5	71.43%	5	71.43%	4	57.14%	
29	1	14.29%	2	28.57%	3	42.86%	3	42.86%	
30	5	71.43%	6	85.71%	4	57.14%	3	42.86%	
31	2	28.57%	6	85.71%	1	14.29%	3	42.86%	
32	5	71.43%	2	28.57%	3	42.86%	2	28.57%	
33	4	57.14%	3	42.86%	5	71.43%	5	71.43%	
34	5	71.43%	2	28.57%	2	28.57%	4	57.14%	
35	0	0.00%	1	14.29%	3	42.86%	3	42.86%	
36	3	42.86%	7	100.00%	4	57.14%	3	42.86%	
37	3	42.86%	4	57.14%	5	71.43%	4	57.14%	
38	3	42.86%	1	14.29%	2	28.57%	4	57.14%	
39	5	71.43%	4	57.14%	2	28.57%	2	28.57%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank Employee Teacher				
22 1 100	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
40	1	14.29%	1	14.29%	4	57.14%	6	85.71%	
41	4	57.14%	4	57.14%	3	42.86%	6	85.71%	
42	1	14.29%	5	71.43%	2	28.57%	3	42.86%	
43	3	42.86%	3	42.86%	1	14.29%	6	85.71%	
44	3	42.86%	5	71.43%	6	85.71%	5	71.43%	
45	3	42.86%	6	85.71%	2	28.57%	6	85.71%	
46	3	42.86%	2	28.57%	7	100.00%	5	71.43%	
47	5	71.43%	3	42.86%	4	57.14%	5	71.43%	
48	3	42.86%	3	42.86%	4	57.14%	1	14.29%	
49	6	85.71%	2	28.57%	5	71.43%	4	57.14%	
50	5	71.43%	2	28.57%	5	71.43%	3	42.86%	
51	4	57.14%	2	28.57%	1	14.29%	0	0.00%	
52	2	28.57%	2	28.57%	2	28.57%	3	42.86%	
53	5	71.43%	2	28.57%	3	42.86%	3	42.86%	
54	6	85.71%	2	28.57%	1	14.29%	5	71.43%	
55	2	28.57%	5	71.43%	5	71.43%	3	42.86%	
56	4	57.14%	3	42.86%	1	14.29%	2	28.57%	
57	2	28.57%	4	57.14%	0	0.00%	2	28.57%	
58	2	28.57%	5	71.43%	4	57.14%	5	71.43%	
59	3	42.86%	4	57.14%	4	57.14%	2	28.57%	
60	1	14.29%	1	14.29%	4	57.14%	6	85.71%	
61	3	42.86%	2	28.57%	0	0.00%	5	71.43%	
62	5	71.43%	5	71.43%	6	85.71%	4	57.14%	
63	2	28.57%	1	14.29%	4	57.14%	3	42.86%	
64	4	57.14%	2	28.57%	5	71.43%	3	42.86%	
65	4	57.14%	1	14.29%	5	71.43%	5	71.43%	
66	3	42.86%	1	14.29%	4	57.14%	5	71.43%	
67	6	85.71%	4	57.14%	1	14.29%	3	42.86%	
68	4	57.14%	4	57.14%	0	0.00%	2	28.57%	
69	4	57.14%	5	71.43%	3	42.86%	2	28.57%	
70	5	71.43%	1	14.29%	6	85.71%	6	85.71%	
71	1	14.29%	1	14.29%	5	71.43%	3	42.86%	
72	4	57.14%	2	28.57%	0	0.00%	6	85.71%	
73	4	57.14%	4	57.14%	1	14.29%	3	42.86%	
74	4	57.14%	4	57.14%	4	57.14%	5	71.43%	
75	2	28.57%	2	28.57%	4	57.14%	3	42.86%	
76	1	14.29%	3	42.86%	4	57.14%	4	57.14%	
77	6	85.71%	4	57.14%	4	57.14%	6	85.71%	
78	6	85.71%	2	28.57%	2	28.57%	3	42.86%	
79	2	28.57%	2	28.57%	3	42.86%	3	42.86%	
80	2	28.57%	2	28.57%	1	14.29%	5	71.43%	
81	4	57.14%	1	14.29%	3	42.86%	5	71.43%	
82	1	14.29%	2	28.57%	3	42.86%	5	71.43%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
83	5	71.43%	2	28.57%	4	57.14%	3	42.86%	
84	1	14.29%	3	42.86%	6	85.71%	5	71.43%	
85	4	57.14%	2	28.57%	4	57.14%	2	28.57%	
86	2	28.57%	3	42.86%	6	85.71%	2	28.57%	
87	4	57.14%	0	0.00%	5	71.43%	4	57.14%	
88	4	57.14%	2	28.57%	3	42.86%	4	57.14%	
89	6	85.71%	5	71.43%	4	57.14%	5	71.43%	
90	2	28.57%	2	28.57%	1	14.29%	5	71.43%	
91	3	42.86%	0	0.00%	4	57.14%	4	57.14%	
92	1	14.29%	5	71.43%	3	42.86%	4	57.14%	
93	4	57.14%	2	28.57%	4	57.14%	6	85.71%	
94	1	14.29%	4	57.14%	5	71.43%	4	57.14%	
95	4	57.14%	3	42.86%	5	71.43%	7	100.00%	
96	4	57.14%	6	85.71%	2	28.57%	3	42.86%	
97	4	57.14%	1	14.29%	4	57.14%	3	42.86%	
98	2	28.57%	2	28.57%	1	14.29%	3	42.86%	
99	3	42.86%	4	57.14%	0	0.00%	6	85.71%	
100	1	14.29%	5	71.43%	5	71.43%	4	57.14%	
101	4	57.14%	3	42.86%	2	28.57%	3	42.86%	
102	4	57.14%	2	28.57%	1	14.29%	3	42.86%	
103	4	57.14%	2	28.57%	3	42.86%	2	28.57%	
104	4	57.14%	2	28.57%	4	57.14%	4	57.14%	
105	2	28.57%	1	14.29%	6	85.71%	2	28.57%	
106	3	42.86%	6	85.71%	3	42.86%	0	0.00%	
107	4	57.14%	5	71.43%	0	0.00%	0	0.00%	
108	2	28.57%	6	85.71%	3	42.86%	4	57.14%	
109	2	28.57%	2	28.57%	4	57.14%	4	57.14%	
110	5	71.43%	6	85.71%	4	57.14%	5	71.43%	
111	4	57.14%	0	0.00%	1	14.29%	5	71.43%	
112	5	71.43%	4	57.14%	5	71.43%	6	85.71%	
113	6	85.71%	1	14.29%	3	42.86%	4	57.14%	
114	1	14.29%	6	85.71%	5	71.43%	3	42.86%	
115	2	28.57%	2	28.57%	5	71.43%	5	71.43%	
116	3	42.86%	3	42.86%	1	14.29%	3	42.86%	
117	5	71.43%	6	85.71%	5	71.43%	2	28.57%	
118	4	57.14%	4	57.14%	2	28.57%	0	0.00%	
119	4	57.14%	4	57.14%	6	85.71%	1	14.29%	
120	2	28.57%	2	28.57%	6	85.71%	1	14.29%	
121	4	57.14%	6	85.71%	2	28.57%	0	0.00%	
122	5	71.43%	4	57.14%	2	28.57%	5	71.43%	
123	3	42.86%	2	28.57%	1	14.29%	3	42.86%	
124	5	71.43%	3	42.86%	1	14.29%	0	0.00%	
125	2	28.57%	4	57.14%	1	14.29%	2	28.57%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
126	2	28.57%	6	85.71%	4	57.14%	2	28.57%	
127	3	42.86%	4	57.14%	3	42.86%	0	0.00%	
128	2	28.57%	5	71.43%	0	0.00%	4	57.14%	
129	3	42.86%	5	71.43%	0	0.00%	1	14.29%	
130	4	57.14%	3	42.86%	3	42.86%	4	57.14%	
131	1	14.29%	3	42.86%	2	28.57%	0	0.00%	
132	3	42.86%	5	71.43%	3	42.86%	3	42.86%	
133	4	57.14%	3	42.86%	4	57.14%	2	28.57%	
134	0	0.00%	4	57.14%	6	85.71%	2	28.57%	
135	3	42.86%	4	57.14%	5	71.43%	6	85.71%	
136	5	71.43%	6	85.71%	3	42.86%	5	71.43%	
137	6	85.71%	3	42.86%	5	71.43%	2	28.57%	
138	2	28.57%	5	71.43%	4	57.14%	1	14.29%	
139	5	71.43%	5	71.43%	1	14.29%	7	100.00%	
140	2	28.57%	5	71.43%	6	85.71%	6	85.71%	
141	2	28.57%	4	57.14%	3	42.86%	5	71.43%	
142	5	71.43%	4	57.14%	5	71.43%	5	71.43%	
143	0	0.00%	5	71.43%	1	14.29%	6	85.71%	
144	3	42.86%	4	57.14%	1	14.29%	3	42.86%	
145	1	14.29%	4	57.14%	2	28.57%	3	42.86%	
146	3	42.86%	5	71.43%	2	28.57%	0	0.00%	
147	1	14.29%	4	57.14%	1	14.29%	4	57.14%	
148	6	85.71%	4	57.14%	4	57.14%	2	28.57%	
149	3	42.86%	5	71.43%	2	28.57%	0	0.00%	
150	3	42.86%	5	71.43%	3	42.86%	2	28.57%	
151	3	42.86%	4	57.14%	2	28.57%	0	0.00%	
152	2	28.57%	5	71.43%	3	42.86%	6	85.71%	
153	4	57.14%	3	42.86%	4	57.14%	2	28.57%	
154	5	71.43%	4	57.14%	2	28.57%	4	57.14%	
155	6	85.71%	4	57.14%	4	57.14%	4	57.14%	
156	1	14.29%	4	57.14%	2	28.57%	5	71.43%	
157	3	42.86%	5	71.43%	5	71.43%	0	0.00%	
158	3	42.86%	4	57.14%	3	42.86%	3	42.86%	
159	3	42.86%	1	14.29%	6	85.71%	6	85.71%	
160	3	42.86%	4	57.14%	2	28.57%	5	71.43%	
161	3	42.86%	5	71.43%	0	0.00%	1	14.29%	
162	3	42.86%	5	71.43%	3	42.86%	0	0.00%	
163	2	28.57%	4	57.14%	0	0.00%	3	42.86%	
164	4	57.14%	4	57.14%	7	100.00%	5	71.43%	
165	3	42.86%	2	28.57%	1	14.29%	5	71.43%	
166	4	57.14%	3	42.86%	1	14.29%	2	28.57%	
167	2	28.57%	3	42.86%	5	71.43%	3	42.86%	
168	2	28.57%	4	57.14%	2	28.57%	1	14.29%	

		Informa	al Sector		Formal Sector				
Sl. No.	Stre	eet Vendor	Domestic Worker		Bank	Employee	Teacher		
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage	
169	3	42.86%	4	57.14%	6	85.71%	4	57.14%	
170	2	28.57%	3	42.86%	2	28.57%	5	71.43%	
171	4	57.14%	3	42.86%	4	57.14%	3	42.86%	
172	5	71.43%	4	57.14%	3	42.86%	4	57.14%	
173	4	57.14%	4	57.14%	1	14.29%	2	28.57%	
174	5	71.43%	4	57.14%	3	42.86%	3	42.86%	
175	4	57.14%	4	57.14%	6	85.71%	5	71.43%	
176	0	0.00%	3	42.86%	5	71.43%	2	28.57%	
177	3	42.86%	4	57.14%	2	28.57%	4	57.14%	
178	4	57.14%	3	42.86%	5	71.43%	4	57.14%	
179	3	42.86%	2	28.57%	4	57.14%	5	71.43%	
180	4	57.14%	4	57.14%	5	71.43%	5	71.43%	
181	1	14.29%	4	57.14%	4	57.14%	2	28.57%	
182	2	28.57%	1	14.29%	2	28.57%	2	28.57%	
183	4	57.14%	6	85.71%	4	57.14%	2	28.57%	
184	4	57.14%	5	71.43%	0	0.00%	0	0.00%	
185	2	28.57%	5	71.43%	0	0.00%	0	0.00%	
186	4	57.14%	4	57.14%	6	85.71%	4	57.14%	
187	4	57.14%	1	14.29%	5	71.43%	2	28.57%	
188	0	0.00%	5	71.43%	3	42.86%	2	28.57%	
189	4	57.14%	1	14.29%	0	0.00%	2	28.57%	
190	2	28.57%	4	57.14%	6	85.71%	5	71.43%	
191	2	28.57%	5	71.43%	0	0.00%	0	0.00%	
192	5	71.43%	2	28.57%	5	71.43%	5	71.43%	
193	1	14.29%	3	42.86%	3	42.86%	6	85.71%	
194	5	71.43%	4	57.14%	4	57.14%	0	0.00%	
195	2	28.57%	2	28.57%	4	57.14%	6	85.71%	
196	4	57.14%	2	28.57%	3	42.86%	5	71.43%	
197	2	28.57%	2	28.57%	3	42.86%	5	71.43%	
198	2	28.57%	6	85.71%	2	28.57%	1	14.29%	
199	2	28.57%	3	42.86%	6	85.71%	1	14.29%	
200	4	57.14%	5	71.43%	2	28.57%	6	85.71%	
201	3	42.86%	1	14.29%	1	14.29%	2	28.57%	
202	0	0.00%	0	0.00%	2	28.57%	6	85.71%	
203	3	42.86%	5	71.43%	2	28.57%	5	71.43%	
204	3	42.86%	2	28.57%	2	28.57%	5	71.43%	
205	4	57.14%	4	57.14%	3	42.86%	6	85.71%	
206	2	28.57%	6	85.71%	7	100.00%	5	71.43%	
207	5	71.43%	4	57.14%	2	28.57%	6	85.71%	
208	3	42.86%	4	57.14%	6	85.71%	5	71.43%	
209	1	14.29%	4	57.14%	5	71.43%	5	71.43%	
210	5	71.43%	5	71.43%	4	57.14%	2	28.57%	
211	3	42.86%	1	14.29%	6	85.71%	3	42.86%	

		Informa	al Sector			Forma	l Sector	
Sl. No.	Stre	et Vendor	Domestic Worker		Bank Employee		Teacher	
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage
212	4	57.14%	5	71.43%	3	42.86%	6	85.71%
213	4	57.14%	3	42.86%	5	71.43%	3	42.86%
214	4	57.14%	5	71.43%	2	28.57%	2	28.57%
215	5	71.43%	4	57.14%	6	85.71%	3	42.86%
216	5	71.43%	5	71.43%	2	28.57%	5	71.43%
217	3	42.86%	3	42.86%	5	71.43%	0	0.00%
218	4	57.14%	5	71.43%	5	71.43%	3	42.86%
219	1	14.29%	5	71.43%	5	71.43%	0	0.00%
220	5	71.43%	5	71.43%	3	42.86%	3	42.86%
221	2	28.57%	3	42.86%	6	85.71%	2	28.57%
222	5	71.43%	4	57.14%	5	71.43%	0	0.00%
223	2	28.57%	4	57.14%	4	57.14%	2	28.57%
224	3	42.86%	4	57.14%	6	85.71%	4	57.14%
225	1	14.29%	5	71.43%	2	28.57%	3	42.86%
226	2	28.57%	5	71.43%	4	57.14%	3	42.86%
227	4	57.14%	2	28.57%	5	71.43%	5	71.43%
228	6	85.71%	6	85.71%	4	57.14%	3	42.86%
229	5	71.43%	2	28.57%	3	42.86%	0	0.00%
230	4	57.14%	3	42.86%	3	42.86%	4	57.14%
231	5	71.43%	4	57.14%	2	28.57%	5	71.43%
232	5	71.43%	3	42.86%	4	57.14%	4	57.14%
233	4	57.14%	2	28.57%	6	85.71%	3	42.86%
234	3	42.86%	2	28.57%	1	14.29%	5	71.43%
235	3	42.86%	4	57.14%	4	57.14%	4	57.14%
236	6	85.71%	5	71.43%	2	28.57%	3	42.86%
237	6	85.71%	3	42.86%	4	57.14%	2	28.57%
238	3	42.86%	2	28.57%	5	71.43%	4	57.14%
239	4	57.14%	3	42.86%	1	14.29%	5	71.43%
240	3	42.86%	2	28.57%	7	100.00%	2	28.57%
241	4	57.14%	2	28.57%	3	42.86%	3	42.86%
242	5	71.43%	2	28.57%	1	14.29%	5	71.43%
243	5	71.43%	3	42.86%	1	14.29%	5	71.43%
244	6	85.71%	1	14.29%	1	14.29%	5	71.43%
245	4	57.14%	2	28.57%	2	28.57%	6	85.71%
246	6	85.71%	2	28.57%	5	71.43%	2	28.57%
247	0	0.00%	4	57.14%	5	71.43%	3	42.86%
248	4	57.14%	3	42.86%	4	57.14%	4	57.14%
249	4	57.14%	3	42.86%	2	28.57%	6	85.71%
250	6	85.71%	3	42.86%	0	0.00%	5	71.43%
251	3	42.86%	0	0.00%	0	0.00%	4	57.14%
252	5	71.43%	3	42.86%	1	14.29%	2	28.57%
253	3	42.86%	1	14.29%	2	28.57%	2	28.57%
254	2	28.57%	0	0.00%	0	0.00%	5	71.43%

Sl. No.	Informal Sector				Formal Sector			
	Street Vendor		Domestic Worker		Bank Employee		Teacher	
	Score	Percentage	Score	Percentage	Score	Percentage	Score	Percentage
255	2	28.57%	1	14.29%			3	42.86%
256	4	57.14%	6	85.71%			4	57.14%
257	1	14.29%	6	85.71%			0	0.00%
258	6	85.71%	1	14.29%			2	28.57%
259	4	57.14%	6	85.71%			5	71.43%
260	1	14.29%	3	42.86%			6	85.71%
261	1	14.29%					3	42.86%
262	5	71.43%					6	85.71%
263	1	14.29%					6	85.71%
264	6	85.71%					3	42.86%
265	1	14.29%					3	42.86%
266							5	71.43%
267							6	85.71%
268							6	85.71%
269							5	71.43%
270							3	42.86%
271							3	42.86%
272							6	85.71%



## ISSN: 2349-5162 | ESTD Year: 2014 | Monthly Issue

## JOURNAL OF EMERGING TECHNOLOGIES AND INNOVATIVE RESEARCH (JETIR)

An International Scholarly Open Access, Peer-reviewed, Refereed Journal

### A STUDY OF CHOICE OF DECISION-MAKING AND ITS IMPACT ON POLITICAL PARTICIPATION AMONG WORKING WOMEN IN SELECT FORMAL AND **INFORMAL SECTORS: A CASE STUDY OF** SOUTH KOLKATA.

#### ANASUA CHATTERJEE.

Associate Professor. Department of Political Science. Dr. Kanailal Bhattacharyya College, Howrah. West-Bengal. India

#### ABSTRACT

Women's role in the development proc<mark>ess cannot be ruled out. However, in this society, women are</mark> commonly constrained by the norms, beliefs, customs and values of the society creating separate codes of conduct for women and men. The main purpose of the present study is to understand the pattern of decision-making choice of the working women. aims to study her cognitive orientation (i.e. her knowledge about political parties, symbols, their stay in power and their judgements about political system), evaluative orientation on how political system works including her voting behaviour and partisan preference. Women working in both the organised and the unorganised sectors play dual role looking after their children, elders in the family, husbands and also contribute to the family expenditure but have no control over their own income or expenditure. They consult their husbands, elder members of the family or the community before casting their vote and are not guided by individual preference or choice. Women do not yet exist as an effective political collectivity.

#### INTRODUCTION

Political participation is a complex phenomenon liable to be influenced by different variables. It denotes a series of activities which have a bearing on the political process. To be more specific, these activities mainly are (1) voting at the polls, (2) supporting possible pressure groups by being a member of them, (3) personally communicating directly with legislators, (4) participating in political party activity and thus acquiring a claim on legislators, (5) engaging in habitual dissemination of political opinion through faceto-face communication with other citizens. However, it is to be noted that more people discuss politics than vote, and many more vote than join parties or work in campaigns (Woodward, 1972, 133). Some other empirical studies also show that most people are just not especially politically oriented and political participation is not a "natural" concomitant of citizenship. As Eakin's (1972, 97) study, based on survey research, shows that only small percentages, probably fewer than 10 per cent in all democratic countries, belong to a political class. Milbrath (1965,25-60) suggests that "the various forms of political involvement fall into a hierarchy or continuum according to the cost in time and effort that each



## Journal of Emerging Technologies and Innovative Research

An International Open Access Journal Peer-reviewed, Refereed Journal www.jetir.org | editor@jetir.org An International Scholarly Indexed Journal

## Certificate of Publication

The Board of

Journal of Emerging Technologies and Innovative Research (ISSN : 2349-5162)
Is hereby awarding this certificate to

#### **ANASUA CHATTERJEE**

In recognition of the publication of the paper entitled

A Study of Choice of Decision-Making and its Impact on Political
Participation of Working Women in Select Formal and Informal Sectors: A
Case Study of South Kolkata

Published In JETIR ( www.jetir.org ) ISSN UGC Approved (Journal No: 63975) & 7.95 Impact Factor

Published in Volume 9 Issue 1, January-2022 | Date of Publication: 2022-01-12

EDITOR

JETIR2201160

EDITOR IN CHIEF

Research Paper Weblink http://www.jetir.org/view?paper=JETIR2201160

Registration ID: 319008

An International Scholarly Open Access Journal, Peer-Reviewed, Refereed Journal Impact Factor Calculate by Google Scholar and Semantic Scholar | Al-Powered Research Tool, Multidisciplinary, Monthly, Multilanguage Journal Indexing in All Major Database & Metadata, Citation Generator



CULTURE - SOCIETY - EDUCATION NO. 2(18) 2020 POZNAŃ



### 'Empowerment in Practice and Its Impact on Political Participation': A Study Among Working Women of South Kolkata<sup>1</sup>

KEYWORDS

women, empowerment, decisionmaking power, civil society, political participation, partisan preference ABSTRACT

Anasua Chatterjee, 'Empowerment in Practice and Its Impact on Political Participation': A Study Among Working Women of South Kolkata. Culture – Society – Education no. 2(18) 2020, Poznań 2020, pp. 187–206, Adam Mickiewicz University Press. ISSN 2300-0422. DOI 10.14746/kse.2020.18.7.

The main purpose of the present study is to understand 'empowerment' as observed in theory and in actual practice in the society where women are still regarded as second-class citizens inspite of achieving success in their chosen fields. Her freedom in choice of decision-making within the family and civil society plays an important part in influencing her participation in politics and her voting behaviour. By political activism of the respondent we primarily mean her cognitive orientation (i.e. her knowledge about political parties, symbols, their stay in power and their judgements about political system), evaluative orientation on how political system works including her voting behaviour and partisan preference. Survey was carried by the researcher on 1000 women working in both the organised and unorganised sectors of the economy mainly among street vendors and domestic workers and bank employees and teachers in Kolkata. Results: Women working in both the sectors play dual role looking after their children, elders in the family, husbands and also contribute to the family expenditure but lack effective power in decision-making. They consult their husbands, elder members of the family or the community before casting their vote and are not guided by individual preference or choice.

<sup>\*</sup> ORCID: 0000-0002-5608-5694.



## INTERNATIONAL CONFERENCE ON

### **HUMAN RIGHTS: CONTEXT AND CONCERNS**

Organised by :
IQAC, BIJOY KRISHNA GIRLS' COLLEGE, HOWRAH
In Collaboration With
WEST BENGAL HUMAN RIGHTS COMMISSION

## Certificate

Dr. Kalyani Sarkar Soma Chandra Rupkatha Mukherjee

Convenors

Dr. Sweta Guha
Coordinator, IQAC

Dr. Ruma Bhattacharyya Prinicipal / Secretary

# Bengal after 1947: Issues and Challenges

# International Seminar



Dr. Kanailal Bhattacharyya College in Collaboration with Paschimbanga Itihas Samsad



24th & 25th February, 2020

This is to certify that Prof. / Dr. / Shri / Smt. Linasua Challe of Dr. Kanailal Bhattacharyya College

Participated / Presented Paper titled A Study of Choice of Decesion its impact on Political Participation among Working women: A case In the International Seminar on "Bengal after 1947: Issues and Challenges" organised by Dr. Kanailal

Bhattacharyya College in Collaboration with Paschimbanga Itihas Samsad, held in Dr. Kanailal

Bhattacharyya College on 24th (Monday) and 25th (Tuesday) February, 2020

Convener Dr. Kanailal Bhattacharyya College

Secretary Paschimbanga Itihas Samsad

Principal Dr. Kanailal Bhaitacharyya College

